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Section A

Section Id : 736593292

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 90

Enable Mark as Answered Mark for Review and Clear Yes

Response :

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 736593380

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 73659326110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which type of Leadership is required for High morale in class ?
FE1 § Iod AAlaw og (69 JBR & g B AR Bl © ¢

Options :
Arbitrary
R

1. =

Sympathetic

y, % NI

Democratic

=Jek

3.¢



Authoritarian

,, ST

Question Number : 2 Question Id : 73659326111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A teacher is not fulfilling his duties propelly As a principal you will :
U AATF AT Faed F TaT o § 960 $dl ¢ 0F J9FEE & 57§ A

Options :

Not pay Attention
., E e

Scold the teacher
. s i uEa zﬁ[ i ‘_:'\

Try to know the cause

Inform the management

4, =

Question Number : 3 Question Id : 73659326112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Before you teach new topic, you should enquire that :
I U T STV 9T B H USe ATGH F8 ol o ol el 6

Options :

How much time will you take to teach that topic ?
39 UHAO Fl B H [ha 96T @ ¢

1. %



What is the strength of the class ?

o x B R B2 7

What is the previous knowledge of students about that topic 7

3Jmﬁfmaﬂnm % fawa # feber gd s @ ?

What type of Teaching-learning material is required for teaching ?
4 s (STEST & T0E YA BT STAV-GHET W @ AR § 7

Question Number : 4 Question Id : 73659326113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a child's educational achievement is deteriorating day by day, which of the
following may be the most probable reason for this ?

L 7 1 1 o e 1 1 70 12 T B - O A O 1 e R = B
HNO B B " AiE g 7

Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all

candidates.

Options :

He/She is earning money
a5 o9 FHAN @/ ©

He/She is in bad company
, T T & A UF EAE S

Teachers are not teaching properly
isa 2% | TR Ten @

Lack of concentration
S HEv H FH]

Question Number : 5 Question Id : 73659326114 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
An ideal teacher is one who :
g {99% 98 7 o
Options :
Has strong desire to learn continuously
| v Tad g B e 398 T E

Favourite of all colleagues

5 % T JEaiEt & T El

Contfidant of the Principal
s % THNEE F 0T A

Popular in student community

, w (AT TR # A E

Question Number : 6 Question Id : 73659326115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A disciplined class means :

UF AIET FAT § ANWE §
Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all

candidates.
Options :
A teacher is able to attract students attention when and how he/she wants

Pindrop silence in class

, e H O ST T o



Students can speak with teachers permission
AATH H1 AFA 9 B I 6 &

3

There is silence, till teacher is there
4 T T AEE B, Sifd @dl ©

Question Number : 7 Question Id : 73659326116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Students learning occurs when :

femlt AfFm 9 I Bl & o
Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :
There is active teaching

R RGN

Parents are active

Principal 1s vigilant

3 UEE Had Bl

Students are made active

4, (et B |ieg S feAr o

Question Number : 8 Question Id : 73659326117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
It two students do not agree to sit together in your class, what will you do ?

afd ATTFl BT & 2T [qEnelt v HJe1 399 § 2N Fd &, df AT 47 FH 7




Options :
Change their seats

| % Tl "iE 999 39

Tell guardians about this

5. % T ANMMEH Bl FGT HET

Adopt some strategy for their mutual adjustment
3 o T ATTE § GAEGH 3G FB e A

Complain to Principal
o TAEETE | ISRET B

4

Question Number : 9 Question Id : 73659326118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For which of the following characteristics students usually most dislike their teacher ?
B frefiad @@t & § 9 e S 3 SR §EE B qaiiud TS aid § 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.
Options :
Illegible Blackboard writing

| FHTE T eI e

Lack of knowledge of subject
oo = #

Bias behaviour

;T SR



Always late in class
, A H BHIT AT H A

Question Number : 10 Question Id : 73659326119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which statement is most suitable for successful teacher ?

M H FF-H B 9% AETE B Y Haias 9ugad & ¢

Options : )
Explains lesson clearly

Uses text book only
bad ed TS 1 TER Bl 8

2. %

Asks questions

y x U5 OB B

Inspires students

4.Jm€n$rrrr€?rm%

Question Number : 11 Question Id : 73659326120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the number-letter group which is different from the others :
HEH-AGT HYE A ol gHU § AW B
Options :

DG2

1. %



3 JR6

, = PYS8

Question Number : 12 Question Id : 73659326121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A, B, C, D and E are five friends. A is shorter than B but taller than E. C is the
tallest. D is shorter than B and taller than A. Who has two persons taller and two
persons shorter than him/her ?

A.B.C,D AT ET= M3 %1 A, B 9 BT & o E & o1 21 C §99 &= 2
D.BH BTT & #AF A¥H a1 31 59 3 &gl § o751 921 21 A § B 2 7
Options :

Question Number : 13 Question Id : 73659326122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Three positions of a cube are shown in the figure. What will come on the face
opposite to Q ?

TH 9 A AN A9 B ER E 81 Q MW §U Hae & fauwid Hag I

B ¢
P /P 1
N9 |Rﬂ z 3

Options :



l.¢

Question Number : 14 Question Id : 73659326123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If — means =+, + means X, + means —, X means +, then which of the following
equations is correct ?

A0S — FT qdwd +, + F Adwd X, + F G —, X F G0 + 2, df F=fad & 4
FI-H1 qHETOT &l 5 7

Options :

| 52+44+5%x8-2=36

- 43xT+5+4-8=125

3 % 36 X4-12+5+3=420

4 % 36-12x6+3+4=60

Question Number : 15 Question Id : 73659326124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A shepherd had 17 sheep. All but nine died. How many was he left with ?
UF 9vae & 9 17 92 4 9% AT 99 A7 R a8 [hddl 92 & qF g ¢

Options :



Question Number : 16 Question Id : 73659326125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A pineapple costs Rs. 7 each. A watermelon costs Rs. 5 each. X spends Rs. 38 on
these fruits. The number of pineapples purchased is :

AEE B HAT To 7 TAE | TF d0ga B FMd Go 5 TdHl X 38 & @A
Options :

Question Number : 17 Question Id : 73659326126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the number which when added to itself 13 times, gives 112,
a8 §E F & ol 13 9 A AT B AE, 112 a1 B
Options :

7

1. %



4 % 11

Question Number : 18 Question Id : 73659326127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 100 cats kill 100 mice in 100 days, then 4 cats would kill 4 mice in how many
days ?
7t 100 fafeet 100 F&t #1100 fef & a7 0 2, @ 4 fofeemt 4 98t &1 o
S e 0|
Options :

| day

1 fed

1. =

4 days
5w 4T

40 days
s x 40TF

100 days

100 =9
4.«

Question Number : 19 Question Id : 73659326128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A man has Rs. 480 in the denominations of one rupee notes, five rupee notes and
ten rupees notes. The number of notes of each denomination is equal. What is the
total number of notes that he has ?

480 59 B UF Hd % el F HEd SUe Bl 81 I6@ UE &W o Aqle § 7
Options :
L% 45

Question Number : 20 Question Id : 73659326129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A woman says, "If you reverse my own age, the figures represent my husband's
age. He is, of course, senior to me and the difference between our ages is one-
eleventh of their sum." The woman's age is :

F UiaMiIE Fd 81 98 Fisad €9 8 g6 aiw & A BAN 98 $ dF # FHa¥
I ST & TET FT TS 317 JiEe B 35 ©
Options :

23 years

| % 23T

34 years
, x 34T

45 years
o 45T



50 years
50 a9

4,

Question Number : 21 Question Id : 73659326130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For the purpose of training of school principals in light of new education policy
which among the following agencies will be most appropriate ?

TN S AT & ums § e A B AN G TEE 4 sEe &g
Halfseh UG BNl :

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

NIEPA

NIEPA (<)

NCERT
NCERT (u7 & £ & @)

DIET

, DIET (3%E)

SCERT
SCERT (T8 # g &% )

Question Number : 22 Question Id : 73659326131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



The national education day is celebrated on birth anniversary of which of the
following national leader ?

M | E U Ad AT # aue B AdET T OUSE (SE aq /e
S g 7

Options :

Maulana Abul Kalam Azad

A AR FAH AR

1.

Pt. Madan Mohan Malviya
, w TS e AlET AdE

Shri M. S. Swaminathan
3 % o THo THo MRS

Prof. Yashpal
4 % Hlo TS

Question Number : 23 Question Id : 73659326132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the context of secondary and higher education cess what does MUSK stand
for:
AIAWE A I= (98§ (cess) B #3 § MUSK & aegd @ :
Options :
Madhyamik and Uchchtar Shiksha Kosh
| o AT T AT ST e

Madhyamik and Uttar Shiksha Kosh
5w WS UF SAT ST e

Madhyamik and Unnati Shiksha Kosh
s w FTEE T I ST B



Madhyam and Uchchtar Shiksha Kosh
4 w FEF Ud oY i i

Question Number : 24 Question Id : 73659326133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which IIT is planning to introduce Vastushastra for students of architecture in
the year 2017 ?
M= # | 2|0 T a9 2017 § AU angahal @@k g angsme faug o
Options :

Kharagpur

l. ‘/ E‘ﬂ.g I .-‘] ;-\._

Kanpur
5 % EiRIES

=

Madras
3. %

Question Number : 25 Question Id : 73659326134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
How many Central Universities were included in U. G. C. list till the year 2019 ?

99 2019 7% Jo o Hio &I Tl # & 6" =M (dsaigamg 4 ?
Options :
. 53

1.



Question Number : 26 Question Id : 73659326135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which is the statutory body for regulation of Teacher Education in India ?
T H a9 % e 2y adiee FeEE ae B
Options :

RCTE

| x TRELAE

SIEMAT
, » TR ETHLA

NCTE
; » TLHLAE.

IGNOU

Question Number : 27 Question Id : 73659326136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which among the following is digital initiative of Government of India for
online educational programs ?

AR SaF FEEAT 3 T § § -1 TG SR # $hew e g 7
Options :




SWAYAM

1. ¢

NISHTHA

2. %

PRERNA
3. % AW

APEKSHA

4w SO

Question Number : 28 Question Id : 73659326137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which state government has recently launched the 'Happiness Curriculum'
focusing on holistic education by including, meditation, education and mental
exercise 7
o T SR 5 B & A RN Hged F qed e, SEE e, e
AMTeS W SIS 8, T & Sied 50 © 7
Options :

Jammu and Kashmir

Maharashtra
5 % ORI

Kerala
3 % EAGH

Delhi
4. v Tl

Question Number : 29 Question Id : 73659326138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When was RMSA (Rashtriyva Madhyamik Shiksha Abhiyan) implemented ?
RMSA (T Ar=ide 1 AlEE) & «F] dr @ o 7

Options :

L% 2008-2009

5 2009-2010
« 2010-2011

4% 2011-2012

Question Number : 30 Question Id : 73659326139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Design Education Quality Mark is an initiative launched by which of the
following institutes ?
Teoes {81l oran A i @6 M § 8§ @E 8 % @ E 05 189 § 7
Options :

The Indian Design Council
VARG ICREEIFS I CF

World Education Design Organisation
5 % (G99 fSTEn {3 &ee

National Assessment and Accreditation Council (NAAC)
- U™ qHiFT AR TdPH IHEE (NAAC)

University Grants Commission (UGC)

4, % (AR e SAEN (UGC)



Section B

Section Id : 736593293
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 70
Number of Questions to be attempted : 70

Section Marks : 210
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 736593381
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 73659326140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was the 23rd ruler of Satvahan dynasty ?
Hiqaied ds1 1 deddl STEE D a1 ¢

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :
Kuntal Shatkarni
1 EARIRINES

Gautamiputra
= .

2, TG

Pulmavi

3. T

Yagyashree Shatkarni



Question Number : 32 Question Id : 73659326141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who promulgated the Chalukya Samvat at the time of his coronation ?
AT THERREY & J99 [&H7 Ay dad =Todr ?

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Tailap IInd
| B e

Someshwar Ist
5 HHGT TTH

S_Dmeshwar [11rd
; JHSY A

Vikramaditya IVth
4. 1R T

Question Number : 33 Question Id : 73659326142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"Jaat paat puchhe na koye, har ko bhaje so har ka hoi". whose statement is this ?
‘ST I8 T Bl, 81 @ Tl | T Fl 2’ Te B [GEd o 7
Options :
Ramanand
. v

Ramanu;j

) (L .lﬁ



Ravidas

3.%:31'&131?:[

Kabir
4, % Pl

Question Number : 34 Question Id : 73659326143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The name of the founder of Calcutta Medical College was :
il AiSHel Hivid & HEITH &l M a7 ¢
Options :
Warren Hastings

| % dF BT

Wellesly

William Bentinck

s o ff 3%

Lord Hastings

Question Number : 35 Question Id : 73659326144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is called the Martin Luther of Hindu dharma ?
Options :
Swami Vivekanand

M fader—=

1. =



Pt. M. M. Malaviya
2 # irg" UH* r*-l.—Fl-+ *. j‘:l

Swami Shraddhanand
3 % HHl Fg5
Swami Dayanand Saraswati

AT S il
4. &

Question Number : 36 Question Id : 73659326145 Question Type : MCQ Option Shuffling : Yes Is
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Question Label : Multiple Choice Question

The "Wardha Plan" of Gandhiji was related with :
TSt &1 “qel Frerr” o1 Have o
Options :

Satyagraha

1. # 4

Education

5 o ST

Cottage industries

3 5% q_-.:": % "-.!'-_ﬂxi ﬁ-

Communal harmony

, ., e d

Question Number : 37 Question Id : 73659326146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Who is addressed as the F'_ather of Indian Unrest ?

MRAE AHAN # F9F [ Hel Al & ¢

Options :
Gandhiji
| % TS

Lala Lajpat Rai

Bal Gangadhar Tilak
3 96 TR e

Subhas Chandra Bose
4 % g = EIL]
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Question Label : Multiple Choice Question
The sun-set laws were concerned with :
AT A & HET o
Options :

Land revenue
L ‘3]11:[ A H

Acts of sedition

| o TNETE 1 i g

Court

3 % Ald 9

Trade ]

4 % NI H
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Question Label : Multiple Choice Question

The traveller Bernier belonged to :
JET AEE AR F HET o
Options :

Persia
-, e

Italy
) % &COl H

France
HiE H
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Question Label : Multiple Choice Question
Whose name is associated with the Continental System ?
TEhEeRT 19 HEMEMY e § 2 BT § 7

Options :

Napoleon IIlrd

SUIGEEEGRIP

1. %

Peter the Great
) x U R 3

Louis X‘\{]lh
3. % e Hieie:



Napoleon Bonaparte

s o Tl A
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Battle of Waterloo was important because of the :

qrevy] #l @3 "ewyyl ol

Options :

defeat of Catherine of Russia

Fall of Turkey in Europe
B CEECER RS

Fall of Napoleon
3 o THIREA & U % o

Fall of Bismark
e % 99 &

4, =
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Question Label : Multiple Choice Question

Khanzada Begum was the sister of :
EEIEECUCEEEE I i

Options :
Babar

1.¢



Humayun
g Al

Akbar

Jahangir

. ¥ t?iq . T Zﬁr
4. %
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Question Label : Multiple Choice Question

When was the Indian Muslim league founded ?
23T gfeaw & # I A9 AR o ?
Options :

1904

1. %

5 1906

1907

L% 1903

Question Number : 44 Question Id : 73659326153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

Who among the following shall communicate all the decisions of the council of
ministers to the President ?

Feifed & § & AR-IR9E & Mo B T B Euud B e 7
Options :



Home Minister
| % TB HA1

Prime Minister

) UH- HAl

Vice-President

3w SH-UETd

Finance Minister
4 s fad HA
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Question Label : Multiple Choice Question

All doubts and disputes in connection with election of the vice-president are
inquired into and decided by :

SIS % gAE & Hed # @i siwel A el # 9" @) FeE BE a5 7
Options :
Supreme Court

L& Hdlze ~dl4lmy

Election Commission

, % 3T A

Rajya Sabha
3 % UH 99

President

4 % TSI
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who administers the oath of office and secrecy to the Chief Minister of Delhi ?
P fowil & gErEl 31 98 AR e @ a9 e § 2
Options :

Lieutenant Governor of Delhi

=

| Tl % ditede Taey

President of India

5 % TG & TS

Chief Justice of the Supreme Court

s x Hated TR & e S

Governor

4 s
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following is nef participating in the Election of the President ?
Feifed # 8 39 T & FaEd # 9 g wd ¢
Options :

The elected members of the Lok Sabha and Rajya Sabha

| w TIHET d T 8 % Haitad §ee

The elected members of the Legislative Assemblies of the State

5w T oA % i qoe



The elected members of the Legislative Assemblies of the union territories
of Delhi and Puducherry.

ol Ud Y21 &9 STEd T &3 #1 faamEmal & Haia 9o

3. %

Both elected and nominated members of State legislative Council
v T [aFuRuel & i ud #9na qee

4
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Question Label : Multiple Choice Question

Psephology is related to the study of :
HERTA HE-91 99T F ST57T Fa § f
Options :

Elections and Trends in voting

T AR AdeH # HEM

Lv

Pressure Groups agenda

2. % He st

Behaviour of the Parliamentarians
3 £ E'ILFEIT EEI Eqaﬂ‘ ix

Power and Influence
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Question Label : Multiple Choice Question

Westminster model of Government belongs to which country ?
HYER 1 ‘Gt A7iZd 59 o9 # B 7
Options :




UK
L T
USA

France

3. % e

Switzerland

f D
. _fl Ny I

4o
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Question Label : Multiple Choice Question

Who is the author of the book "Politics' ?
idicad J&% & o@d HE 8 7
Options :
Plato

1. %

Descartes

2. ® ELAL

Aristotle

. Y]

Max Weber
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Question Label : Multiple Choice Question

The UN Headquarters is situated in :

#7990 U gEed Fel 6 © 7
Options :
New York

elEd

LY ©

Washington

) TS

Hague

B

3. %

Philadelphia

4.
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Question Label : Multiple Choice Question

What were regarded as temples of modern India by Jawaharlal Nehru 7
AT HeE gl HAFE T $ Aed & Y H {HH A7 S o ?
Options :

Dams

1.\.‘?/ElTEIT

Universities

, « Tt

Parliament and Legislative assemblies

- HHe A [ AamETm



Atomic Reactors
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Question Label : Multiple Choice Question

IMF stands for :
R0 THo Who #1 T T F1 & ?
Options :

International Money Fund

| % ARIEE 0 B

International Monetary Fund

) FUUGE BT B

International Malaria Fund
A E A FY

3. %

None of the three
R EEE
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Question Label : Multiple Choice Question
'‘Perestroitka’ and 'Glasnost’ were the two key reforms introduced by which of the
following leader ?
TR U4 SEERe’ R OR § RE AT T 39 3 WHE §E # OEdad
qT ¢

Options :

Joseph Stalin



Khurschev
) % GE

Mikhail _Gorbachev
3. ¢ BiEERIEE

Mao Tse Tung
4. % HTEW
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Question Label : Multiple Choice Question
Which one of the following types of vegetation does Rubber giving plant
belong to ?
e H § BF geedia et § HeiEd § 7
Options :
Tundra

Himalayan

B "

2. %

Mangrove Forest

3. %

Tropical Evergreen

4 ST HeTdelT
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Question Label : Multiple Choice Question



India is called a Tropical country mainly on account of its :
TRT F IWT Fieawdl IS Fo H HRI ¢ .
Options :

Latitudinal extent

AT TET

1.v

Longitudinal extent
BRI G B LIRS

Areal size
4 _:"1 :H ’:I] ix

Monsoon climate

4 % IO FICHH AFEA Srrg
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Question Label : Multiple Choice Question

The Southern Indian part of the eastern coast is often called :
SO MRA % i ddF HEM Bl AdEY f6E T H ST S # 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Southern plain

I "

Southern Sarkar

, 99 1 G

Malabar plain



Coromandel coast
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Question Label : Multiple Choice Question

Kaziranga National Park is known for the conservation of :

FIN T I FH Al &

Options :

Elephant conservation
| A B T

Natural Birds conservation

, % TR A B HeE

Lion conservation
3. %

Rhinoceros conservation
4. ¢
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Question Label : Multiple Choice Question

Who first used the term "Megalopolis’ ?
Options :
Jean Gottman

| o U TMERT



P. Geddes
) .
A E. Smailes

3&'3 Ul-" gr‘;\q:‘lﬁ

R. E. Dickinson

4, -
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Question Label : Multiple Choice Question
Who among the following is related with the classical theory of Monsoon ?
9 A § B AMET % S T IR EE § 9= 7
Options :
H. Flohn
[ % T T

P. Koteshwaram
2 ® qT. =hicEe pHLY

T. N. Krishnamurti

Edmund Hailey

4. v TS
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Question Label : Multiple Choice Question
Which of the following is correctly matched ?

fret & @ B AR B 7



Options :

Bristal industrial region —  France
| % [oES AEINE e ~  Fid

Lorren industrial region — ltaly

Ruhr industrial area — Germany
s v B AEINE & — AT

Saxony industrial area —  United Kingdom
, % ST SN — 7RSS EA
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is net a part of United Arab Emirates ?
M # § BM HYa R AHNd & B Je ¢
Options :
Qatar

| v T

Abu Dhabi
2. ® 'qu ;‘Tﬁﬁ

Sharjah

3, % AN

Dubai
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not related to the rest of the three ?
= # B ST 9 § foaee gena § 7

Options :

Prime Meridean
% T HEE

Greenwich Mean Time
, x UNIGE AT

Universal Time

s w HEE

Standard Time

4, v THIEED HH°Y
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Question Label : Multiple Choice Question

Markout the original rock which has been metamorphosed as serpentine :

39 Aifefd FgM &1 Hied iy Jt S9Hd 2T JYieRT a9 dl ¢ -
Options :

Lime stone
L% Al T

Gabbro

2.

Shale
3. % 9

Sandstone
4 % ELUTEARRIES
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Majuli river Island is situated in the river:
Aol e &M R e A e 7
Options :

The Indus

&y

¥ 9

The Ganga

The Godavari
3, % Rk

The Brahmaputra
4, v A
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Question Label : Multiple Choice Question

Which of the following state is largest producer of Manganese ?

Fretffad & & S-a1 09 SR # a9 331 IIRH U © !
Options :
Chhattisgarh

Jharkhand
5 % S
Oddisa
3. ‘-.-'/ '\.Jnl-.gli



Karnataka

g PrlCD
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Question Label : Multiple Choice Question

Why does demand curve have a negative slope ?
ART @% & #ONH & i ol © ¢

(I) Due to income effect only

(I) @AM UG & HE

(IT) Due to substitution effect

(1) Ofd®=Ts T & HIe

Choose your answer from the codes given below :
A el T e § 8 AT IO g

Options :
Only I

133:’“]

Only II
5w a1

Both I and II
3 o 1T M

Neither | nor I1
4 % 170 IH & FE ol
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Question Label : Multiple Choice Question



The slope of the production possibility curve is the :
IR SIS a% # @ Bl ©
Options :

Marginal rate of substitution

| SR #1 S o€

Marginal rate of exchange

5  [AFTFE 3 HE 3

Marginal rate to transformation
3 \".?{; \'1' E % ﬁl’ ﬁ‘l—q-ia- _c'.w:

Average rate to transformation
4 % ST A ST 3T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who among the following economists, is associated with the concept of 'Quasi-
Rent ?
e Adeet § 8§ fhem €99 ‘arTd e & SauRen § 8 7
Options :
A. Marshall
To HSd

LV

A. C. Pigou
) % To Hio ﬁﬁl

Adam Smith

s x U5

J. Robinson

. oo e

4,



Question Number : 70 Question Id : 73659326179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

Who among the following, has nof given his model based on the concept of
unlimited supply of labour ?

e A OH R AesTEl A AEAG FH A Bl Seednl 9 AT AT S
78 I E 7
Options :

W. A. Lewis
T <

Ranis-Fei

2. &

D. W. Jorgenson

dlo Iego HAGIE
3. % |

Gunnar Myrdal
R LEG]
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Question Label : Multiple Choice Question

According to Monetarists, demand for money function is :
HEMIeAl & HAJER H&T B I #i Bidl @ :
Options :

Stable and interest inelastic
| w [ T & SRR

Stable and interest elastic
5 o EI T & @



Unstable and interest inelastic
3 x JIEIE N &AW TR

Constant and interest elastic
o TEIT T & R

Question Number : 72 Question Id : 73659326181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Arrange the following liquid assets in ascending order :
et v TREeRE Jod oA H s #
(a) Time deposits
| A
(b) Savings deposits
o=d TJH
(c) Currency
(d) Demand deposits
CIUEEE|
Select the correct answer from the codes given below :
Options :

. Ja.b.d.c

a,b,cd
F

a,c, b, d

3. %

4 % d, c b, a
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Question Label : Multiple Choice Question
A deficit in the balance of payments can be corrected by :
TAH Hged & 91° &1 9 § § [F8a g 96l @A o 69 ¢ ¢
Options :
Reduction in interest rate

| I T H B

Discouraging capital inflows

2 Qg ]j\U:I‘T ._“ﬂiﬂr]ig ?:-T (:\E-\IEH "'”'ja ’E.'{':ﬁ

Increase in interest rate
3 & 27 H Wr

Restricting remittances
4 % TTEOT T O S
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Question Label : Multiple Choice Question

It the Reserve Bank of India wishes to decrease money supply, it should :
¢ WA {od 9% He1 ATl & Jem@ 9Bl 6, of g6 S Ay
Options :
Raise statutory liquidity ratio
L I Tl AT B Gl Ay

Buy treasury bills in the open market
5 % Gd IO F gl e @l Al

Raise Bank Rate
3 @ 9% T A T e

Lower reserve requirements
4. ® AT F9 § T4 T A

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

All the combinations on an indifference curve give :
Options :

Same level of satisfaction

gyt &1 F4M &

1.¢

Higher level of satisfaction
5 % GG B HA ER

Unequal level of satisfaction

Satisfaction depending upon the position on indifference curve

4 % GCFT a% T [ ferld & o W Hgfe

Question Number : 76 Question Id : 73659326185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
It price changes from Rs. 6 to Rs. 4 and the quantity demanded changes from 3
to 8, elasticity of demand will be :
i AT 6 & § At ot 4 T 31 Al 8 AR AR A9 awel AE 39 8 3
Options :

Zero

1% T




b
<
n

Question Number : 77 Question Id : 73659326186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Oligopoly is a market situation, where :
ATIMFT UF UGl I el B, 7@
Options :
There are few firms producing close substitutes
v BB B Fae 3 ®|FANE age #1 Ided Fl 8

1

There are few firms producing complementary goods
2Qm$ﬁTTﬂ?ﬁjﬁjﬁ[w S 2

There are few firms producing entirely different goods

L x TB T T § R aegel @ o w ¢

There are two or more monopolistic firms

4 % B AT AF THIEHN BH SR §

Question Number : 78 Question Id : 73659326187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following was not the stated objective of demonetisation in India ?
FE A O TG d S & AN 3gsd 78 o ¢
Options :
Reduction in the use of cash in the economy
| w SIS | T B AN FN FH HCA

Increasing the use of digital modes of transaction



Expanding the tax base
3 % Y SR F FgET &

Increasing the rate of growth of GDP
4 Hfo 2o Tlo @ [AFHE 3T F e[l

Question Number : 79 Question Id : 73659326188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In partnership, a minor can be partner :
Options :
In no case

| T o e A

Not more than one
5 % U § Al e

Only to the benefits of partnership firm

3 o Dol HERE BH & A0l § @ s @ g 2

Only as a secret partner

4« B9 D HEER % &7 A

Question Number : 80 Question Id : 73659326189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A and B are partners sharing profits in the ratio of 3 : 2. C is admitted with
1 . N : . : :
3 share in the profit. What will be the new profit sharing ratio ?

‘o T T uH BH OH 3: 2% AU # S-Ei dfed g1 9 @ F L % fa

(%]

HERE 9@ Al 21 @Sl died #1 T4 A a4 B 7
Options :

Question Number : 81 Question Id : 73659326190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Interest on drawings is :
AR W &M & -
Options :

An expenditure for the business

A gain for the business

Neither expenditure nor gain

3 % 7@ &9 AR T @ uiE

Expenditure and gain both

Question Number : 82 Question Id : 73659326191 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Premium received on issue of shares by a company can be used for :

G aa s e R e B el s ) 2 e o e Ll i
Options :

[ssue of fully paid bonus shares

| x T SME S8 & FRRT 3 o

Writing off the preliminary expenses

Writing off the discount allowed on issue of shares
s A9 F FFAT W OEET g2 F e @ g

All D_f the three
=t & =i

4. ¢

Question Number : 83 Question Id : 73659326192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In case of instalment system, total interest receivable by the seller is credited to :
ST TEid | fabar N U AT g o #i9e A A ©

Options :
Interest Account
L% & 9 H

Sales Account
2. % EERRen

Interest suspensc Account
3 o o 39 G |




Asset Account

A

Question Number : 84 Question Id : 73659326193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which from the following in nof an element of planning ?

F=eiiad & § #F-91 I ® dd J8F 8 ¢

Options :

Principles

Lgfﬂ%_il"_ﬁ

Policies

Procedures

Programmes
o)
4, % DDA

Question Number : 85 Question Id : 73659326194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Warehousing is an activity related to :
IR 5 F=ie ©
Options :
Industry
| % SR

Aids-to-Trade

5 TN § HEds



Trade
3. % 1M

None of the three
o % G A A A

Question Number : 86 Question Id : 73659326195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Liability of a Sole Trader is :

U Uehe] &M & 29 Bidl 2
Options :
Limited

O

1. %

Unlimited

Undecided

Partial Limited and Partial Unlimited

4 % AN HIHT T SAAD A

Question Number : 87 Question Id : 73659326196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which one the following needs do mot fall into Maslow's Need Hierarchy
theory ?
FiThd § § FM-H1 AAEFaN A&l & AAIEa ®OE HEd B a7
A g ?
Options :

Physical needs
| x SHINE AEEHAY

Safety needs
5 % QU HEHEl SESTHAT

Religious needs
3 o TS AEFEHAL

Social needs
4 % IS SAGETHY

Question Number : 88 Question Id : 73659326197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Prime cost is also known as :
A AR & AT A6 &

Options :

Indirect cost
| % AUHE TN B TH H

Variable cost
) % Igaasia @G & 9 o

Fixed cost
3 x [T AP & 99 §

Direct cost
4 o T A T TH



Question Number : 89 Question Id : 73659326198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Doctrine of Indoor Management is related to :
AINE Ta=H Fl HaEra S=bd ¢
Options :

Memorandum of Association

| T E

Articles of Association

Prospectus

w JEAT

3.

Nqne of the three
o« TR # & T T

Question Number : 90 Question Id : 73659326199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Anaemia caused by Vitamin B-12 deficiency is:
Options :
Megaloblastic Anaemia

Pernicious Anacmia

5 o TEISEE S

Sickle Anaemia



A]! of the three
4 % O # &l

Question Number : 91 Question Id : 73659326200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Scurvy is the deficiency of :
=l 71 &1 1§ B B
Options :

Vitamin A

1, % [ T

Vitamin B,

2. #® iEL M <l

Vitamin C

3, v T H

Vitamin D

4, 19ENHT S0

Question Number : 92 Question Id : 73659326201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Commonest nutritional problem in India is :
TRaad & 29 awl JEe e H JRen e E
Options :
Rickets

1. %

Marasmus



Bitot's spot

Anaemia

4 o I

Question Number : 93 Question Id : 73659326202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
BMR increases during :
1. A, A, e el & Sear §
Options :

Disease

| F A fert

Pregnancy
| T 7 e

Lactation

o« U @1 ferd |

3.

Exercise
s o ST A et &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.

Question Number : 94 Question Id : 73659326203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The mi]_k that contains 1.5% fat and 9%_501ids 15 kpﬂwn A5 ernnennnes mil}:.
3o o8 1.5% a6 @1 9% o9 T T8 A0 2 31 ...l 39 Fod ¢ |

Options :



Skimmed milk
I ERE
Toned milk
) % OIS 3
Double toned milk
3 o 399 2I3 38

Condensed milk

4% 262 gy

Question Number : 95 Question Id : 73659326204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

From which plant source gluten is derived ?
e a=edia Wi | e O il 8 7
Options :

Soya

1. ®

Rice

Question Number : 96 Question Id : 73659326205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Richest source of Vitamin C is :
foerferT &t @1 waffas wE @i ¥ -
Options :

Orange
1. # HaT

Cabbage
) 99 T

A_mla
3, K

Sprouts

4 % AT ST

Question Number : 97 Question Id : 73659326206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the correct order of Food Supplementation programme launched by
Government of India :

MG HEN g O 760 T @ |90 BEEA 5 §el 6 Fa ¢

Options :

ICDS, SNP, ANP, MDMP

AR, & 9. uq., ud. . 9., T . 9, . 3o

1. ®

SNP, MDMP, ANP, ICDS
, x T T UL, @RS @0, T 0, SR LSO

ANP, MDMP, SNP, ICDS

. U, uq, 41, UH, 3. uq, 9., u9. U9, 9., 9E. 91, 3. U9,

ANP, SNP, ICDS, MDMP

PRV O A IR R PR P P e R PR P R



Question Number : 98 Question Id : 73659326207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which are the symptoms of Diabetes Mellitus ?
IERfeq Afed I & T@9 IE-9 § 7
(a) Polyuria;
(b) Hypoglycemia
Tod AR

(c) Glyco_suria
sil '\-\.,Ii -\.I ] v
(d) Polyphagia
-.r\r _LT-.é .
(e) Edema

(f) Taste Acuity
e T

Options :
a,candd

L\_/ﬂ.CEP—"d

d, b and c
d, bd¥l c

f.dandc
f,d ™ ¢

b,dande
b,dd¥l e

Question Number : 99 Question Id : 73659326208 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which is the major protein found in milk ?
39 H H&F UidH a1 8 7
Options :

Albumin

-

Myoglobin
3 % LIRIESIER]
Gliadin

4,

Question Number : 100 Question Id : 73659326209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Lactic acid bacteria are used to make :
Sifdeed TS I &1 U9 = &1 a9 & o f6ar ofmn §
Options :

Bread

d3

1. %

Beer



4.

Yogurt
ARTE



